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NOTE - (1) Figure to the right indicate full marks of the questions.
{2} Show all calculation

Q-i The following are the Balance Sheets of the Laxmi Company Ltd. as on 31 March 18
Particulars 300321 | 31-03-22 |
(1) EQUITY AND LIBILITIES :
(1) Sharcholders’ Fund :-
(a) Equity Shate Capital — fully paid shares of Rs. 100 7,50,000 1 11,25,000
(b} Reserve and Surplus — General Reserve 4,50,000 ; 1,50,000
Profit and Loss Account 75,000 90,000
(2) Non —Current Liabilities :
(a) Long Term Borrowing : 10% Debenture -1 3,75,000
(3) Current Liabilitics:
(a) Trade Payable — Sundry Creditors 3,37,500 | 3,82,500
(by Short Term Provision - Provision for Taxation 1,12,500 | 1,27,500
Total 17,25,000 | 22,50,000
(ITy ASSETS
(1) Non-Current Assets
(a) Fixed Assets : (i) Tangible Assets — Building and Land 9,75,000 | 16,72,500
(b) Non- Current Investment : - 1,12,500 90,000
(2) Current Assets :
(a) Inventories — Stock 75,000 ¢ 1,12,500
(b) Trade receivable- Debtors (37500 -3000 Bad Debts Reserve) 412,500 | 2,62,500
(¢) Cash and Cash Equivalent - Cash and Bank : 90,000 67,500
(d) Other Current Assets — Preiiminary Expenses 60,000 45,000
Total 17,25,000 | 22,50,000

Additional Information :-

(1) On 1-4-2021 bonus shates at one share for every two shares were issued by capitalizing
General Reserve.
(2) Income Tax of Rs.1,05,000 was paid during the year,

(3) Tnterim dividend of Rs.67,500 was paid during the year.

(4) Depreciation Rs. 37,500 was provided on Building and Land
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Q-1

(5) Investment costing Rs.37, 500 was sold at a profit of Rs. 7,500 and the profit was credited to
Profit and Loss Account, |
From the above information prep:are the Cash Flow Statement as per AS -3
OR
(A} The Profit of KIRTAN Co. itd. as shown by Profit and Loss Account for the year ending 10
on 31-3-2022 was Rs.12,00,000 after making adjustments for the following items. Calculate
cash inflow from Operations for the year 2021-22

(1) Goodwill written off 40,000
(2) Depreciation written off during the year ' 3,20,000
(3) Preliminary expenses written off 32,000
(4) Loss on sale of plant 8,000
(5) Profit on sale of Investment 40,000
(6) Transfer to General Reserve 1,60,000
(7) Proposed Dividend 2,40,0Q0
(8) Provision for Taxation 2,00,000

There was an increase of Rs. 1,60,000 in the debtors and a decrease of Rs. 90,000 in the stock
during the year, Creditors were reduced by Rs.1,40,000 and bank overdraft increased by
Rs.50,000.

(B ) Explain — Benefits of Cash flow Statement 08
A factory engaged in manufacturing plastic buckets is working at 40% capacity and ﬁroduces 17

6,000 buckets per annum. The present cost break-up for one bucket is as under,

Particulars Rs.
Direct Materials 100-00
Direct Labour 30-00
Factory Overheads ( 60% fixed ) 36-00
Selling Overheads  (20% varying } 20-00
Selling price 240-00

During the current year they intend to ptoduce the same number but anticipates that-
(1) Their fixed changes will go up by 10%

(2) Rates of direct Iabour will increase by 20%

(3) Rate of direct materials will increase by 5%

(4) Selling price cannot be increased.

Under these circumstances they obtain an order for é further 10% of their capacity. What
minimum price will you recommend for accepting the order to ensure the manufacturer an
overall profit Rs. 3,68,100

OR
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Q-2

Wrtte Short Note (any two)
(1) Major factors influencing Pricing Decision.
(2) Full Cost Pricing Method and Variable Cost Pricing Method
(3} Key-factor

17

(-3 The following particulars relate to the manufacture of products X and Y. Both the products use 18

Q-3

same raw materals,

Particulars i X -Perunit Rs. Y - Per unit Rs.

Selling price (Rs.) 2,000 3,200
Direct Materials (Rs. 300 per kg.) 600 1,200
Direct labour (Rs.20 per hour) 400 720
Variabie Overheads 200 320
Fixed Costs Rs. 7,60,000 - -

Assuming raw materials as the key factor and availability of which is 64,000 kg. and
maximum sales potential of which product being 16,000 units, find the product mix which will
yield maximum profit. If the production capacity of the factory is 16,000 units of each product
and the labour hours available are 5,36,000, then how much of each product should be
manufactured to get maximum profit?

OR
The management of a factory is considering, discontinuing production of unprofitable product

“M”, but asks for your advice. The details relating to it are as under.

Particular Products
X Y M
Sales 7,00,000 5,50,000 1,50,000
Direct materials 1,95,000 2,07,500 47,500
Direct labour 90,0600 85,000 30,000
Variable Cost 1,10,000 85,000 20,000
Fized Costs 2,12,500 1,30,000 60,000
Profit 92,500 42,500 1 Loss ~ 7,500

Proposal - {1) if product of M is closed

If production of M is closed, some of the employees engaged in production of M and its
supervision can be relived and their salary can be saved. Their salaries etc. are Rs. 12,500 which
is included in fixed costs.
Proposal - (1) if\product of X is Increased

On rethinking the management thinks that the production of M should be closed and its
supervisors should be absorbed by increasing the production of X by 30,000 units. The current

selling price of X is Rs.7-00 per unit. Give advice his respect of both proposals.

18
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(-4 From the following Baiance Sheet of INDIA Lid and other information make out the 17
Statement of Sources aid Application of Funds. (Vertical Form)
Balance Sheets
Particulars 31-3-21 31-3-22
[I} EQUITY AND LIABILITIES:-
(1} Shareholders’ Funds :

{a) Equity Share Capital 2,060,000 3,00,000
8% Red. Pref. Share Capital 1,00,000 50,000
(b} Reserve and Surplus
General Reserve ' 20,000 1 30,000
Capital Reserve | - 25,000
Profit and Loss Afe 18,000 27,000
(2) Current Liabilities
(a) Trade payable - Creditors _ 25,000 47,000
Bills Payable 10,000 6,000
liabilities for Expenses 8,000 6,000
(b) Short term Provision
Provision for Taxation 28,000 32,000
Proposed Dividend 28,000 39,000
Total 4,37,000 |  5,62,000
[11] ASSETS
(a) Non-current Assets-(1) Tangible Assets - Land -Building 1,00,000 75,000
- Plant 90,000 i 1,91,000
(2) Intangible Assets - Goodwill | 50,000 40,000
(b) Non -current Investments - Trade Investments 10,000 35,000

(¢) Current Assets

(1} Inventories - Stock 85,000 78,000
(2) Trade Receivable - Debtors 60,000 90,000
- Bills Receivable 15,000 18,000
(3) Cash and Cash Equivalent
- Cash in hand 7,000 6,000
- Cash at Bank 10,000 22,000
(4) Other current assets -Preliminary Expenses 10,000 7,000

4,37,000 |  5,62,000

Other information is ag follows:-

(1) Depreciation of Rs.18,000 is charged on plant for the year 2021. No depreciation has been
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provided on Land and Building

{2) A piece land had been sold for Rs.50,000 and the profit on sales has been credited to Capital

Reserve. There was no other capital profit expect this.
(3) A Machine has been sold for Rs.12,000. The written &own value of Machine was Rs.15,000,
(4) Rs.2,100 is received by way of dividend which has been credited to Profit and Loss Account.
(5) An interim Dividend of Rs.10,000 has been paid in 2022,
OR
(A) What is Fund Flow Statement? Explain its Utilities. 17

(B) Explain the difference between Fund-Flow Statement and Cash Flow Statement,

(pro)
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